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for j:=0 to jm-1 do // Roe Average

begin
rhop[j]:=Sqrt(rho[jl*rho[j+1]1);
up[j]:=(Sqrt(rho[j1)*uljl+Sqrt(rho[j+1])*ulj+1])/(Sqrt(rho[j]1)+Sqrt(rho[j+1]1));
Hp[j]:=(Sqrt(rho[j1)*H[jl1+Sqrt(rho[j+1]1)*H[j+1])/(Sqrt(rho[j]1)+Sqrt(rho[j+1]1));
cpljl:=Sqrt(gami*(Hp[jl-upl[jl*upljl/2))

end;
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for j:=0 to jm-1 do

begin
Lambda[1] :=Abs(up[jl-cpl[jl);
Lambda[2] :=Abs(up[j1);
Lambda[3] :=Abs (up[jl+cp[jl);

R[1,1]:= 1;
R[1,2]:= 1;
R[1,3]:= 1;

R[2,1]:= up[jl-cpl[jl;
R[2,2]:= upl[jl;

R[2,3]:= upl[jl+cpljl;
R[3,1]:= Hp[jl-up[jl*cpljl;
R[3,2]:= Sqr(upl[jl)/2;
R[3,3]:= Hp[jl+up[jl*cp[jl;

bl:=gami/2*Sqr(up[jl/cplil);
b2:=gam1/Sqr(cpl[jl);

L[1,1]:
L[1,2]:

0.5%(b1l+up[jl/cpljl);
-0.5%(1/cp[jl+b2*up[j]);




L[1,3]:= 0.5%b2;

L[2,1]:= 1-b1;

L[2,2]:= b2*up[j];

L[2,3]:= -b2;

L[3,1]:= 0.5%(b1-up[jl/cp[iD);
L[3,2]:= 0.5%(1/cp[jl-b2*upl[jl);
L[3,3]:= 0.5%b2;

for nl:=1 to 3 do
begin
for n2:=1 to 3 do
begin
w[ni,n2]:=0.0;
for k:=1 to 3 do
begin
wlni,n2] :=wlni,n2]+R[n1,k]*Lambdalk]*L[k,n2];
end;
end;
end;
E1[j]:=0.5%(m[j+1]+m[j]
-w[1,1]1*(rho[j+1]-rho[j1)
-wl1,2]1*(m[j+1]1-m[j])
-w[1,3]*(e[j+1]1-e[j1));
E2[j]:=0.5%(gam1*(e[j+1]+e[j])+gam3/2*(Sqr(m[j+1])/rho[j+1]1+Sqr(m[j])/rho[j])
-w[2,1]1*(rho[j+1]-rho[j1)
-wl2,2]*(m[j+1]1-m[j])
-w[2,3]1*(e[j+1]1-e[j1));
E3[j]:=0.5%(gamma*(e[j+1]*m[j+1]/rho[j+1]+e[jI1*m[j]/rho[j]1)
-gam1/2*%(Sqr(m[j+1]/rho[j+1]1)*m[j+1]1+Sqr(m[j]/rho[j1)*m[j1)
-w[3,1]1*(rho[j+1]-rho[j1)
-w[3,2]1*(m[j+1]1-m[j])
-w[3,3]1*(e[j+1]1-e[j1));
end;
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for j:=1 to jm-1 do

begin
tho[j]l:=rhol[j]l-nu*x(E1[j1-E1[j-11);
m[j]:=m[j]l-nux(E2[j1-E2[j-1]1);
e[jl:=el[j]l-nux(E3[j]1-E3[j-11);
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end;
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